S A

X| ZH -
S =

2 & M

A

SM-EH . C(BH) - HRAY - B2 Ofl &+ 04 %ggf; HRs2
=T A A 2,283,530 2,123,817 159,713
2 365,000
Al 1,918,530
St JHRE 2 UHBE B2 683,530 717,740 234,210
s 365,000
Al 318,530
oie 2 +EuE 6,100 6,100 0
H= 2 =2l 6,100 6,100 0
201 ZEH2IH] 1,500 1,500 0
01 At 2eld] 1,500 1,500 0
Oget=EZH| 1,500,000& 1,500
202 Od4Hl 2,100 2,100 0
01 =Uotb| 2,100 2,100 0
O&2=& NI 2,100,000& 2,100
206 M=l 2,500 2,500 0
01 MZHl 2,500 2,500 0
O==ZZAE MH==E P 1,500,000& 1,500
O&FZTHA: SZAIS 2 1,000, 000& 1,000
OtS& =S A& 22| 677,430 711,640 A34,210
2 365,000
Al 312,430
Ots& =S Al 22 151,430 201,640 250,210
201 LprE3AH| 12,430 13,640 21,210
01 At=2teldl 12,430 13,640 A 1,210
oYL=l 12,430,000& 12,430
206 TEbI 8,000 3,000 5,000
01 MZHl 8,000 3,000 5,000
OISM4LE ASAE 3 3,000,000% 3,000
oftsa=% A=) EHF 5,000,000& 5,000
401 Al HIZL=2OH| 131,000 185,000 254,000
01 Al&HI 131,000 185,000 A54,000
O0SM4E L SMERL XL
60,000, 000& 60,000




SN STA D

T . L = 1

M oD JHRE B AWE B3
A

&Rl DtSas=Z A4 2 (Ste &)
SAN-ZH-SA(FA) - NFAY - BES O AF K glggfg Hlw &2
OlIS&+T =2AAE FH| 30,000,000 30,000
Ot & =HEH E= 1,000, 000& 1,000
OlIS&4+= BIIIAIE Al 22l
40,000,000& 40,000
sEsZMEEIHE 340,000 510,000 A 170,000
s 272,000
Al 68,000
401 Al&HIZ 204 340,000 510,000 A 170,000
= 272,000
Al 68,000
01 Al&HI 337,552 506,787 N 169,235
OsZE sHMagss LA (2HXF)
337,552,000& 337,552
s 270,042
Al 67,510
03 A4S0 2,448 3,213 AT65
OsE sHMESS LA (20X F)
340,000,000& *0.72% 2,448
= 1,958
Al 490
AR =EAE NESAY 186,000 0 186,000
s 93,000
Al 93,000
401 AlZHIZL=20HY] 186,000 0 186,000
s 93,000
Al 93,000
01 Al&HI 184,660 0 184,660
OLAL =S A NSAIS (20K F)
184,660,000& 184,660
= 92,330
Al 92,330
03 AlZ=0Hd] 1,340 0 1,340
O272 =T AIE HSAL (2K F)
186,000, 000& *0.72% 1,340
s 670
Al 670
Hees(=SAgA) 1,600,000 1,406,077 193,923




DA SEAYA
T T 4 = 1
By HRES(STAL)

el WEHHXE (298
SA-EFH - SA(SAH) - MREAY - BES Off &F K %Eﬁiﬁ HusZ

LIS AKX = 1,600,000 1,406,077 193,923

SaESEINH MES 1,600,000 1,406,077 193,923

404 ZIIEAN2THES 1,600,000 1,400,000 200,000

01 ZBIILSEIHN=HES 1,600,000 1,400,000 200,000

Ou+==Ed3H N=dE=2
1,600,000,000& 1,600,000




